Arithmetic of Integer Exponents

9—(-7) =
(—4) - (D=
10° — (-9) =
10+(~1) =
(3)° +(-8) =
8 +(-9) =
10? +10 =

(4 +(-T) =

Dato: Score:

-3y +1=
(3 + (9=
(4 —4=

¥ (9=
(—4) +8=
(—10)* +(—8) =
10+ (=7) =
(5"~ (-1 =
£ —(-1)=

1)’ = (=8) =
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Arithmetic of Integer Exponents

8 —4=(-3)
9—(-7)=16

(—4) - (D =(3)
10> — (-9) = 1009
10+(-1)=9

(3)° +(=8) = (-35)
8% +(—9) = 503

10 +10 = 110

(-4 +(7)=9

Dato: Score:

(—3)° +1=(-26)

(3)" +(=5) = (-32)
(—4)° —4=(-68)

3 —(-9)=18

(—4)? +8=24

(—10)° + (~8) = (~1008)
10+ (=7) =3

(=5)° —(-1) =26

£ —(~1)= 65

(1)’ = (-8)=9
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